Midterm Exam - Lab
10/30/2018

1) euler's method Bt=(3), y2f Al+H2)
pbl 2) heun's method &t=(3), corrector Z4A(5), yZf Al AH2)
3) A A plot(l), xy label(1), title(1), legend(1), line option(1), ppt O] HE(-1)
4) Athxt HAK3), 2| 2% A AK1), 5% %= while or for2(5), 2| F step size Z3(1)
1) ODE gt== HO|(2), MATLAB gt+=2 E7((3), g 27to 2 dT/dx #3}7|(2), MATLAB St=M M Tgt ALE)
ob2 2) Tmparol g gt "ol(1), f vector(3), K matrix(4), TZF 2 4+H2)
3) A A plot(l), xy label(1), title(1), legend(1), line option(1), ppt O] HE(-1)
4) dT/dx Z=218F 271(2), T 2=21gF 2712), (dT/dx)~2 Al4t3), Ol 25 Al bh2), ZutH| W scope(l), ppt O] FHE(-1)
1) R E&(3), parameter setting(2)
Pb 2) case® QX}7} +/-10% 27 0|4 KO A| ZHE -1H @), HE2(1)
PID(2). saturation(1), input inertia(3), gear(2), clutch(5), output inertia(3), At AlAH1), A=002(2). 27| HEH2),
PRA I DB R, BHE), FHSAIZHY), ppt U] M)
timeover |H|ZA|7F 28 &1 A| OIC} -1E(6:198 £57)

1. (1)~(3) refer to lecture
(4)

clc; clear all; close all;
%% analytic solution
step=0.2;
for i=1:200;
step=step-0.001;
t a = [O:step:4]";
y a = -0.5*t a.”4+4*t _a.”3-10*t_a.”2+8.5*t _a+l;

%% numerical solution
dydt = Q(t,y) -2*t."3+12*t.”2-20*t+8.5;
[t n,y n] = eulode(dydt, [0,4],1,step);
%% error calculation
err=max ((abs(y_a-y n)./y a*100))
if err<5
break
end
end
step

function [t n,y n] = eulode(dydt, tspan,y0,h)
ti = tspan(l);tf = tspan(2);

if ~(tf>ti)
error ('upper limit must be greater than lower')
end
t n = (ti:h:tf)'; n = length(t n);
y n = yO0*ones(n,1); % preallocate y to improve efficiency
for i = 1:n-1 % implement Euler s method
y n(i+l) = y n(i) + dydt(t n(i),y n(i))*h;
end
end
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2. (1)~(3) refer to lecture
(4)
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